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TRIGONOMETRIC FORMULAE
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A 4 (4]
b (¢4 b C b
Right Triangle t— Oblique Triangles ——‘f

Solution of Right Triangles

A @ a ¢ ¢
For Angle 4. sin =5 c0os= T, tan= =, cot = g™ 5 cosec = —

Given Required . . %
a, b A, B¢ ""A=%=CO(B.¢-\/UI+5;‘GVII+F

BT
e c A, B b ;inA=g‘=c0c8,b=\/(c+aiic—ai=a\/1—:—'

Aa [ Bbc| B=90—4,b=acotd, o= —"—
sin 4.

& b

A, b B oa ¢ B=90 —-.4,a—b(anA.0-—cmA-
4, ¢ B, a b B=90°—A,a =csinA,b=0cos 4,
Solution of Oblique Triangles

Required asin B asin C

b ¢ C b=m.6=l&0—(.4+13),c=“
. bsin A % S
Bre C sin = T_O= 180°—(A + B),¢c = p

A, B c| A+B=180°—C, tan }(A--B):('-I—:—bL;—'Ef el
o @sin %4
sin A

b L M=\f£t_.L_ij :_0)

2
sin}B= \/i’——“T— iz‘;‘f-),c= 180°—(A+ B)

¢
, area = \/s(s—a) (3—7) {(3—2)

b esin A

area =

a®sin Bsin C
2sin 4
REDUCTION TO HORIZONTAL

Horizontal dist = Slope dist multiplied by the
ace cosine of the vertical angle. Thus: slope distance =319.41¢.
st Vert. angle =5° 10’. From Table, Page IX. cos 5° 10/=

oe S # .9959. Horizontal distance=319.4X.9959=318.08 fr.
@ & Horizontal distance also = Slope distance minus slope
A distance times (1—cosine of vertical angle). With the
same fizftu:es ﬁ }“éh%""’ce‘;é,"‘fl enmplle, the lol‘l:;v-
Horizon ing result is obtained. Cosine = .9959. 1 —.9059=.0041.
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When the rise js known, the horizontal distance is approximately:—the slope dist-
ance less the square of the rise divided by twice the slope distance, Thus: rise=14 ft.,

siope distance=302.6 ft. Horizontal distance=302.6— 14X 14 _ayo 5 090 300 08 gy
2 3028

area =
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